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Lo (2x-y) =(x+y) +(2y-x)
T3 (2x—y)y —(x+y) +(2y-x)
= (x-y)+Qy-x) -(x+y)
(255 + 2y =) =3(2x = y)2y = x)2e? y + 29 = x) = (x+ y)’
(x+y) =3(2x=yN2y—x)fx+y)-(x+»)
= 32—y y-x)x+y)
2. 4'+6a’+10a° +3a-6
Ts a’ +6a’ +10a° +3a—6
= (@) +2.4 3a+(3af +d’ +3a—6
= (0’ +3a) +(a’ +3a)-6
= p’ip-6 [« a®+3a=p]
= p*+3p-2p-6
= plp+3)-2(p+3)
= (p+3Np-2)
= (@ +3a+3)a’+3a—2) [ p-A A 3BT AR
3. 2%+ pr+6=2x—a)x—2) 96 ACSK T, a 8 p-4 T F9?
Tz 2x’ + px+6=2x—a)x-2)
LI 7T (AT I,
(—a)f-2)=6
A, 2a=6
qA, q=3
X-9F AZA (AT A,
p=(a)(-4)

W p=(3)s-4)=7



4. 4> —p?=22493R a8 bla <b) AT FRAN TCA, a @ b-G7 W Fefy FCA|
T a’ —b> =224
aq, a’-b'=15"-r
=15 Wa=+159R p? = >, b = £1

a=—15 R p=—1 (T TGS 7TF)



